Topic 3.4 — Arithmetic Sequences

Explore & Reason
A fashion designer is designing a patterned fabric.

A. There are 5 shaded squares in row 3. The total number of
shaded squares up to and including row 3 is 9. Fill in the table for
the remaining rows.
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B. What number patterns do you see in the rows of the table?
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EXAMPLE 1
A. Is the ordered list 26, 39, 52, 65, 7 ithmeti ?
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B.How do you represent sequences using subscript notation?
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Try it... Are the following an arithmetic sequence?
a) 2,6,10,14,.. b) 2, 4, 8, 16, ...
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Recursive Formula:
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EXAMPLE 2 A previedsieym
A.Whatis a recurswe formula for the helght above the
ground of the n' step of the pyramid shown?
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B. Find the height above the ground of the 3rd step.
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Try it... What if the stair height is 18cm tall now? \3
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EXAMPLE 3 . :
A. The cost of renting a bicycle is given in the table. How can you Number of days _rented. 1121 31 4

represent the rental cost using an e mula? Rental cost . 38 50 62
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B. What is the cost of rentmg the bicycle for 10 days?
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C. How is the explicit formula of an arithmetic sequence related to a linear function?
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